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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4771876727 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement regarding growth, development and
maturity of the child

o FT AP, [TFH AR INOFT F TET H Tad FUF T 981
Hifse

Options :
Development refers to growth as well as behavioural changes

g 39 ¥ ary oty cgaeits oiadat it off gefar € |

1. ®

Growth refers to structural and psychological changes

FARFT TR F AT FAETEE TREdar F TellT =T §

2. ¥

Biological and environmental factors influence development

g = I+ 3T FaEwiy FrE gafEg Fa & |

3. %

Maturation refers to the emergence of an organism’s genetic potential

gRaeaar R ST 7 3 awar F 3eg I g ¢ |




Question Number : 2 Question Id : 4771876728 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B
A # fev av faww ¥ fquidt #F @B # U av 3a smumed
g ¥ e ST |

List-A List-B
qft-A q-B
(Development) (Theme )
fawm fawa
A) Erikson's Psycho-Social 1)  Depends on concrete and abstract
Development thinking abilities

TR F FAAl-AA S (G Ao 3R 3Ag Rae ewaEt )
et &

B) Piaget's Cognitive Development 11} Depends on experiential learning

e &1 @R o HepaTeRs it W AR E
C) Carl Roger’s Self Development 1i1) Depends on universal ethical

Fel U FT HTcH-TIHH principles
i Afas fReuat w
i & |
1v) Depends on the result of child

interaction with his  social

environment

I==r F II94 HANSF IAE0T
* Ty U 9T i E

Choose the correct one
Tl 397 FT 999 FifaT
Options :
A-inl, B-iv, C-ii

1. ®

A-1, B-n, C-m
2. %



A-1v, B-1, C-11
3. ¢

A-m, Bav, Ca
4. %

Question Number : 3 Question Id : 4771876729 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Psycho-Social Development Theory’. a student of
Class-IX 1s 1n this stage of crisis
R+ A % A|-AATS+ [GFE & fquid F 3#gar 9dt Fam &1 o
HFS FSH WO H

Options :

Initiative Vs Guilt

9o SATH TIITUE

Industry Va Inferiority

3T IATH AT

Autonomy Vs Shame

, «  TEEET 96 oOH

Role Identity Vs Role confusion

HIHAFT 9EAA TAH HHFT HA

4. &



Question Number : 4 Question Id : 4771876730 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the external factor. that influences Child

Development

aoi@a § ¥ o+ F TFE F 999g F9 I 9ET FHF FH 9894
FHifsT

Options :

Physical environment

Hifa=s araEToT

1. ¢
Hormones

grHfa

Intelligence

ECEEE]

Emotional maturity

AFATHSF THOFIdr



Question Number : 5 Question Id : 4771876731 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following identify those that are more helpful to teacher to provide

adequate learning experiences for every learner according to thier individuality

fa=faf@a & ¥ 72 93+ Rumft =t 35 afFawsar § #gar g3
HATITA AT 39y FE H Rtk F 3470+ @@+ ¢ -
A) Ability grouping

AT FHEOT

B} Adjusting the curriculum

TSTHH AT

Cj Adjusting the methods of teaching

fereror =Tt 1 gEEEA

D) Proper knowledge of the individual's potentialities

e aeTg &THar 1 9aeg A

Choose the correct one

TEr 397 FT 997 FifaT

Options :

ABCD
1.v¥

A.C.Donly

Fad A.C.D
2. ®

B. C. D only

Faa B.C.D
3 %

A.B.Conly

Fad A B.C



Question Number : 6 Question Id : 4771876732 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saritha. a 12 years’ age girl. appeared and completed ‘Intermediate’ with

A+ grade. This reflects that her

12 I¥fy o=fr giar & gerAfzae $1 ofier " T A+ 3 grog &Far |
g gfar & & 35T -

Options :
Chronological age 1s greater than Mental age

FATHAF HG AAEF 3 F AOF ¢ |

Mental age 1s less than Chronological age

AT HY FlegHHS AT F FF ¢ |

Mental age 1s greater than Chronological age

v AATES A FAghaS 3G T J0F § |

No relation between Chronological and Mental age

FTellelshHh AR AATES HG H FIS T A0 ¢ |



Question Number : 7 Question Id : 4771876733 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
TS =i F TR0 F e FF @0 |

Options :

Preparation. Verification. Incubation, Illumination

1. ®
Preparation. Incubation, Illumination. Verification
2. ¥
Verification. Preparation. Incubation. Illumination
AT, AR, afasrd, A
3. %

Preparation, Illumination, Incubation, Verification

4. %



Question Number : 8 Question Id : 4771876734 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for primary reinforcement

farafof@a & & 98 Tu@F IHeoa F7 3gE0r a8 & -

Options :
Food

Praise

4 9RTHT



Question Number : 9 Question Id : 4771876735 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As a teacher, which test do you use to assess the aptitude of your students?

o e F T F 39 o f AR F aeaa & T 3T wiadr
ST T 3TART FHEN?

Options :
Thematic Apperception Test

MATesH tadoarg o

1. ®
Army Alpha tests
HTHT 3eHr T
2. %
Raven’s Coloured Progressive Matrices
& ¥ o 5 detag Afcww
3. ®

Finger Dexterity tests

R o TR T
4.



Question Number : 10 Question Id : 4771876736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With respect to nature of the Head of the school, which among the following

lead to maladjustment, eriticism among teachers and students?

OISATST F TUTT HT 9piad & §a9 # A=faf@a & & 7g R A o=
H FHAMAS AT A=A 3cde= FdT & -

Options :

Social adaptability and maturity

TATSF Hefhola T afrgeraar

1. ®

Participative leadership

| W A

2.
Authoritarian leadership

g Aqed

Self-confidence and positive approach

HTeA-TFeaTH 3T FFIeA+ TieeHhiur




Question Number : 11 Question Id : 4771876737 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which method is more applicable to guide the student, who 1s facing the
problems like aggressiveness, anxiety. shyness, temper tantrums and poor

academic performance?

HTEEAT, R=aT, oF, TET R e SeUeE vedd SEr gAEInH &7
HIHAT F3 arel OF F ARGy & e wiadr &Y sugea &=

Options :
Cross- sectional method

Feqaey fafer

1. %
Case Study method
T e &fe
2.
Cumulative marks record
. et Y
3. %

Introspection method

wmmﬁﬂmwﬁ%

4,



Question Number : 12 Question Id : 4771876738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory'. the child exhibits this at
Pre-Operational stage
s & daercRs TFw F Ry § 38R o @ Hared o7
SHHT YEId AT ¢ -

Options :

Logical thinking

=i o

cllshsh [=dad
1. %

Conservation

TTETOT
2. %

Problem solving ability

HHEEAT HAT Fiere
3. %

Egocentrism

HEFTgaar

4.9



Question Number : 13 Question Id : 4771876739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The changes in behaviour of an individual that ocecur by one of the following

factors does NOT fall in the category of learning

Trafoiag & @ 5 v a1 F @Enr 5 a9 & caegr # g arer
gfifgasr feErs #r 4ofr & a8 3 -

Options :

Changes due to practice

FEUTH F FROT g T 9iEGaaT

1. ®

Changes due to experience

AT F HROT g A aREad
2. ®

Changes due to training

gfereTor F FROT g T TREIA
3. %

Changes due to maturation

af{gFgar ¥ FROT g I 9igaaT

4. &



Question Number : 14 Question Id : 4771876740 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following Last-A with List-B regarding multiple intelligence theory

-4 + Heuid F W # gE-A F GERB ¥ Fe ST |

List-A

qH-A

(Intelligence)

Lo

A) Spatial intelligence

Ffes

B) Interpersonal mtelligence
C) Intrapersonal intelligence
Choose the correct one

Tl T =37 e

Options :

A, B, Cxu
1. %

A, B-n, C-m
2. %

A-n, B-1, C-m
3.

A-m, B-n, C-1

11)

111 |

List-B
L3 i' I-B
(Association)
.
Social smart

HrereT TATE

Picture smart

IEERZ:IE

Self smart

Uo% TATC



Question Number : 15 Question Id : 4771876741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT pair among the following

Teafaf@a & O Taa S f gg== FfFT |

Options :
Differential Aptitude Test - Wechsler

foes wfeaeTar oferor - Iarer

1. ¥
Equally Appearing Interval Rating Scale - Thurstone
A fq@e arer e Iear Fher - ywefa
2. ®
Client Centred Approach - Carl Rogers
TEF Fieg TcHr - Fer T5H
3. %

Thematic Apperception Test - Murray & Morgan

ST sicfer ST - At AT A



Question Number : 16 Question Id : 4771876742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory is related to cognitive learning?
R # & Fhen gt G S & de ¥ -
Options :

Learning by Insight

Hasfee garT dr@ar

1. ¥

Learning by Conditioning

Ly HIUA ERT HIEA

Learning by Trial and Error
9 T I ERT H@aT

3. %
Imprinting

o (3A fEfm)

4. %



Question Number : 17 Question Id : 4771876743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“An individual once conditioned to respond to a specific stimulus 1s made to
respond 1n the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

“UF FlEd T TF aR Fdr @feree /aar F 9fg 9fafdEa 5= § fr
HIgRfod X @ Srar g, & 9% wAE Seia Fr 3w sEeEnst & g o
3T 9 9atRar o F BT dOr g Far O 3Wed FuS ey
HEIAT % 39 Beuia 1 giar & -

Options :

Extinetion

P

1. ®
Spontaneous recovery
Tes gAed

2. %

Stimulus generalization

3Ce % HTHARIOT
3. ¢

Stimulus discrimination

4$3ﬁwﬁﬁﬂm



Question Number : 18 Question Id : 4771876744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seelling maximum positive transfer of learning.

TrEa F FOFIH TFNcHF TIHEE0T 5 e iy Rrenfdat =1 ==
g3 1 caa A T@AT 3TTF § -

A) Identification of associations, similarities and dissimilarities among the
learning situations

e aifEufaar # g9y, gaaasit 3 3gAEarEt #1 9g=a

B) Developing proper ideals and imbibing them to perform things in future

qiasT F F w9 & fov 37T et F1 T = aur 3%

HIcHHIT HIAT |

C) Building generalisations and making their use in further learning

HATARIOT 7 FATT Fa7 3T 9& 3097 F 3901 3990 F=r

Choose the correct one

TEr 397 F 999 fifaT

Options :
AC Dlﬂ}'
I A C
1. ®
B. C only
$ad B, C
2. %
A only
Sdel A
3. %
A B C

4. &



Question Number : 19 Question Id : 4771876745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following which one comprises of personal events and experiences

associated with one’s hife

faafaf@a 7 o 37 &9 &l =fea § Sieq @ 3 safFaeg geae
AR T A &

Options :

Rote memory

| x T Hfa

Semantic memory

3 Hfa

2. ¢

Short-term memory

Heqehiersh FHIT

3. %

Sensory memory

Iy T
4. % o



Question Number : 20 Question Id : 4771876746 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students 1n the classroom

FETHeT H T H UM a0 @ H Rrers Fr gegraar Fa I ir JFarhn
Fr gg=a Hi=ET |

A) Reward and Punishment

WER AT &3

B) Success and Failure

Thaar #AY werd

C) Level of Aspiration
HTHTET FT TN

D) Child Centred Education
aTeTehigd TOr&TT

Choose the correct one

TEr 397 F 997 fifFT

Options :
ABCD

1. ¢

B. C. D only
Fad B.C.D

A, C. D only
FIATAC.D

B, C only
Fad B, C



Question Number : 21 Question Id : 4771876747 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The percentage of learnt material forgotten immediately after 20 minutes as per

the Ebbinghaus experiment

Tl TONT F AR AT HEd & G320 e F 9 saar giaea
T S E -

Options :

72%
1. ®
47%
2.
79%
3. ®
75%



Question Number : 22 Question Id : 4771876748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson due
to fatigue. The Thorndike’s law of learning that 1s NOT followed by the teacher

here 1s

T e ol fT FE W A F 9 g UETHEA H W FA F v
918 9Tl & | UFF F FRUT 5 OIF IS AT Fg1 90 | Tgr o7 e F
AAsEs® & @A F $H TA F1 AFEI0T A1 TR -

Options :
Law of use

39T F1 FTH

1. ®
Law of readiness
SR EGIRCIRGE T
2.
Law of disuse
AT F HIE
3. %

Law of effect

AT FT WIH

4. %



Question Number : 23 Question Id : 4771876749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory

TSAHFHr F TEAERET Tgea F 3Furor 1 g7da T FA T FIT
Fr gg=a FifST -

Options :

Social interactions are basis to higher order mental processes

HTHTTST T 3=Id{ ATATES FHIATHT FHT IR & |

1. #®
Cultural factors influence cognitive development
HEHIaF FRF FAACHS [9HH H TS Fd & |
2. %
Learning is the product of association between stimulus and responses
W@ 3edms #R Ffafrarst & diT @9y F7 3c9e §
3. ¢

Language plays a vital role in cognitive development

HAEACHS [ahra 7 #7167 Fgeaqor AfFer faamdr & |




Question Number : 24 Question Id : 4771876750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom

AT e Ferre #§ Feafai@g =49 FF giFAeg Fdr £ -

A) Socially disadvantaged children
HATS &9 § dfed a=<

B) Physically dizabled children
IF § & 37677 T=+

C) Academically differentiated children

Sterforr ¥ @ ffes ==

D) Mentally exceptional children

AATHF §T § THROT T==I

Choose the correct gne

HEr 397 F1 T97 fifFT

Options :
A B, Conly
del A, B, C

1. ®

B. C. D only
, » ae B.C.D

A, C.Donly
Fa AC.D

A BCD
4. %



Question Number : 25 Question Id : 4771876751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education. the specially trained teacher moves from

one achool to another and assiats the differently abled children

TATRMT e % 3@ Asa # GO w9 @ 9ffET R o Fpa @ g
Tl S & AR feeamer a=at Fr v Fa €

Options :

Itinerant teaching model

v AT TaveyuT Aizd

Resource model

B %)

Distance learning model

. gIET HiETH Afse

3

Dual teaching model

gigyr ferefur AsA

4, %



Question Number : 26 Question Id : 4771876752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept

HTeH-3TUROT F Fge3il F1 Fiafafad dg1 I I Fud Fr 9297 FHFT

Options :
Self-concept is the image of oneself

ITeH-FAIUROT =T $T o9 &

1. ®
Real self-concept reflects one’s actual perception of oneself
IS+ el {TUN0T T&F F a8 H Iiod FT IEaias ORoT Hr
AT |

2. ®
Differential Aptitude Tests measure the gap between real self and 1deal
self
fseF arTar gferor T3 areafawar it = 3 F =T dar W

y o T ~ i

Ideal self-concept reflects the perception of what one should be

AT HcH-HIUNUT SH 9NOT &I T & &5 =afeq +r a7 g=r
Sy



Question Number : 27 Question Id : 4771876753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following method 1s suitable for teacher centric learning
fFrafof@a & @ 77 veufy Pers $Ra swftee ¥ v svgea &
Options :
Brain storming
. AfEass - Ay

1.

Demonstrations

2.wmh

Discussions

==

3. %

Project works

oREATSAT FTI



Question Number : 28 Question Id : 4771876754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

e JA9H ot # =7 Ty Fa 7 e Hrggmar FTar T -

A)  Group processing
T iR

B) Individual accountability

ATFId FIEEE]

C) Face to face interactions

HTHA-OTHA Iig=d

D) Positive interdependence

ToRIcH® Ty forsitar

Choose the correct one

HEr 397 FT T3 ffaT

Options :
A, B, D only

Fad A.B.D

1. ®

A, B. Conly
&gl A.B.C
2. %
B.C.D Glﬂ:v
Fad B.C.D

3. %

ABCD
4. %



Question Number : 29 Question Id : 4771876755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to this section of Right of Children to Free and Compulsory Education
(RTE) Act-20009, ‘No child shall be subjected to physical punishment or mental

harassment’
F=at it fees AR Afaay Rem F1 3R (RTE) Act-2009 F 58 arT

% 3R - et o a=9 Fr oIRF &7 I FAEF gaEar 7€ & S gwar
g1

Options :
Section-17
qr-17

1. ¢

Section-16

, % YUHr-16
Section-19
TT-19

3. %

Section-18
gHT-18



Question Number : 30 Question Id : 4771876756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger
on students in the classroom. This is an example for this defense mechanism
guEATeATTF B feeafat @ ReRt vh RetF 39ar qEar FwErws #H o
9T AT § | IE 3H L& IF FT 30T § -

Options :

Rationalization

Eiere)

1. ®

Displacement
2. ¥

Projection

JaquT
3. %

Compensation

grfargfa
4, %

Language I Hindi

Section Id : 477187213
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187339

Question Shuffling Allowed : Yes



Question Id : 4771876757 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

farafaf@a s afdw | 31 & 35 aF Ru v weal & & 3/ gguiaw |

STl TIETUT AT & IT I FA(TOF Agcaqul HGTHdT 9 TS gl ¥R
SH P U g H A HT FA F IHAT WY FT F G GIET W I54T
g1 SATRIUT ¥ FROT 3 T A @ @O @ €, Afear ygfva @ @ § R
T @ o @ &1 3eTqa gl € o &or & oomrer 60% foer af=rer srfoeiea
A TR ¥ S @ | §EE NS I FROT - I Hwe st
2lgd, I A FT HIAT Toad #R FEs Fr oRafe Hvegdr geufaar
ATHUT &7 H Aigamst 3T == F1 g FHr gemer #§ F FardAeT 95 To=T
gsar g, e 39 FEreey e R W A9dT 3w 93 @1 & §AE F
T H IO oI G, 39 FE AW Fo-werH g F7 T6R 3R T
IMURT o Jaua & TFhF e g Fha 81 Fo & Siaa § - Ig a1
Fao THIOT & oI 81, 9fes 3=RoT # 3dra & v gl

Sub questions

Question Number : 31 Question Id : 4771876758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T HIETUT $H §HT HT Fa§ HOF FAgcaqul FHE ¢ -

Options :

Question Number : 32 Question Id : 4771876759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



TOF FOEEET FU T W § -

Options :

Question Number : 33 Question Id : 4771876760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A F AT 60% TS F 5T THEAT FT THAT FIT 95 & ¢ -
Options :

NS & AHAF ITANT FI H

1.+

HST F FH 3TANT A H

2. %

¥oo % WA 393 = #
3. %

ool % faopol FH 3T FI
4. %

Question Number : 34 Question Id : 4771876761 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T F HER RS A IRARF TRUA § -
Options :

Hodglel

Y



FH @Erer

Question Number : 35 Question Id : 4771876762 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T & ¥ I8 ST TIETOT FT TATH AU Fér § -

Options :

. FHETT ATaTRT Jae

2. % %—q’
I FT T
3. %
S TETIAT FT HGGHIOT gEA
4.
Sub-Section Number : 2
Sub-Section Id : 477187340

Question Shuffling Allowed : Yes



Question Id : 4771876763 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)

fArafaf@a seamr afee) 36 @ 40 a5 e v w=aT & #@@ 3¢ ggaav |

9 A A AT IIAF FET |
9 H Fi¢ ar grr g,
gatee - |far, & g |
gex AfY - a1 - ardy gl |
Hel-ge7 s ghr |
GETaT HT I A,
T T T AT IIAF Fel |
T Ffed FH-TIMEET T
TET FT Ad 3=HT g
9 ¥4 g AT Fve,
FAcT AT TFEAE g |

Sub questions

Question Number : 36 Question Id : 4771876764 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

qeITer # CHART %Eéss?rmm?ﬁam’raﬂmgm?-
Options :

g, 9

2.¥ , TR

gar, @3

I, JrdT

Question Number : 37 Question Id : 4771876765 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Facd & AR FH TTefHuT Fa gRM?

Options :



It F fFead 91

1. ¥

AT F a9 g W

2. %

YATSET I I Fad 9T

3. %

9 B T FA W

4. %

Question Number : 38 Question Id : 4771876766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT H i394+ FT AR TIHAT FIAT 91 -
Options :

g T

1. #

 FeTaET FT
2. %

Question Number : 39 Question Id : 4771876767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
g # 30 forw gav fErerwur v g3 ganv ¢ -
Options :

| 8IS

Fiet

2. %



garee

Question Number : 40 Question Id : 4771876768 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ST FT HAET 36597 € -

Options :

HTAdAT =hl FHN
1. #®

e Fir grfeT

2.

ATdded FT TFE
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Question Number : 43 Question Id : 4771876771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771876779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771876781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Section Marks :
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Question Id : 4771876789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
question.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771876790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 12

their
Options :

wealth and power.
1. %

Western education.
2. %

assoclation with Mahatma Gandha.
3.4

positions in the British government.



Question Number : 62 Question Id : 4771876791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What era 1s mainly discussed in the passage?
Options :

Pre-independence era
1. ¥

Mughal-era

Post-independence era

Modern era

Question Number : 63 Question Id : 4771876792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness

1. ®

Deceitfulness
2. ¥

Hard work
3, %

High moral standards
4, %

Question Number : 64 Question Id : 4771876793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does the expreszion "leaders of the yore" refer to in the passage?

Options :

Leaders from foreign countries

1. %

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771876794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. %

Only their personal freedom

Their future generations

Their lives, property and sanity
4. ¢

Sub-Section Number : 2
Sub-Section Id : 477187343
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771876795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.
A) He apologized sincerely for being rude.

B) Later, he felt guilty about his behavipur.

C) During the meeting. Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B,A. D
C.,E.B.A. D
2. ¥

B.C.E.A.D

C.E,D,A B



Question Number : 67 Question Id : 4771876796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1s correct.

1. ¢

. Only the Sentence B is correct.

Both the Sentences A and B are correct.
3. %

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771876797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Despite being outsider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. ®

the, the

a, the

an, the
4. &



Question Number : 69 Question Id : 4771876798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. %

frighteaned
3. %

frichtened
4. ¢

Question Number : 70 Question Id : 4771876799 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound 1n the word “vehicle”.

Options :



Question Number : 71 Question Id : 4771876800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

What they expected was to begin at six the performance.
1.

) What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771876801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up yet.

Choose the correct option to complete the sentence.

Options :

get over
1. %

sent off
2. W

finds out
3.

glve in

4, %



Question Number : 73 Question Id : 4771876802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D




Question Number : 74 Question Id : 4771876803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”
Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1. ¢

He asked her why didn’t she inform him about the change in schedule.

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

schedule.

Question Number : 75 Question Id : 4771876804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never actz so rudely, ?

Choose the correct option to complete the sentence.
Options :

% don't he

dpes he
2.

doesn’t he

did he
4. %



Question Number : 76 Question Id : 4771876805 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon".

Options :

phenomenas
1. ®

phenomena
2.

phenomenon
3. %

phenomenae
4. %

Question Number : 77 Question Id : 4771876806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically INCORRECT sentence.
Options :
When she entered the room. everyone was talling loudly.

1. ®

While he was watching TV. the phone rang.

After she finished the exam. she goes to the canteen.
3. ¢

By the time we arrived, the guests had already left.
4. %



Question Number : 78 Question Id : 4771876807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She vizits her hometown once in a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very rarely
1.¢¥

day by day

2. %

day after day
3. %

regularly
4. %

Question Number : 79 Question Id : 4771876808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
voice?

Options :

The men have been exhausted with the hard work.

1. %

The men are exhausted with the hard work.
2. ®

The men had been exhausted with the hard work.
3. #

The men were exhausted with the hard work.
4. &



Question Number : 80 Question Id : 4771876809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serious.

1.

I have been quit serious.

2. %

I was quite serious.
3. #

I had been quite seripus.
4. %

Question Number : 81 Question Id : 4771876810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There was a lot of conflict between him and her.
Identify the antonym for the word "conflict".
Options :

dispute
1. %

quarrel
2. %

friction

agreement
4. ¢



Question Number : 82 Question Id : 4771876811 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

on
2. %

by
3. ¢

off
4, %

Question Number : 83 Question Id : 4771876812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “impossible” 1s a/an
Options :
verb

1. ®

adjective
2.

oI

adverb
4. %



Question Number : 84 Question Id : 4771876813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

[ % who

whose
2. ®

whom

which
4. &

Question Number : 85 Question Id : 4771876814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW gkills in
Communicative Language Teaching (CLT)?
Options :

Practicing grammar rules in 1solation

1. %
Developing language skills independently
2.
v Using real-life contexts to enhance language skills
3. %

Relying only on writing asslgnments
4. %



Question Number : 86 Question Id : 4771876815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1. ®
An approach 1s a set of classroom activities.
2. ¥
A method 1s the theoretical basis, while an approach is its application.
3. %
An approach is a theoretical viewpoint; a method 1= a practical plan for
implementation.
4. ¢

Question Number : 87 Question Id : 4771876816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which activity helps best in reinforcing vocabulary in voung learners?

Options :

Dictation
1. ®

Grammar drills

3 Word games and picture associations

Writing reports on vocabulary
4. %



Question Number : 88 Question Id : 4771876817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“During a courtroom trial, a juror listens to the defence attorney’s argument
to judge its logic and truth.” This type of listening i1s known as

Options :

Selective Listening

1. ®

Discriminative Listening
2. ®

Critical Listening
3.¢¥

Appreciative Listening
4. %

Question Number : 89 Question Id : 4771876818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT) 1s
Options :
to pass or fail the students based on their performance.

1. ®

to 1identify the learning difficulties of the students and 1improve

teaching.
2. ¢

to rank students among other competitors.
3. %

to complete the syllabus and prepare the students for the next class.



Question Number : 90 Question Id : 4771876819 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A psycholinguistic barrier in learning English refers to the

Options :

lack of playground.
1. %

poor classroom seating.
2. %

fear of making mistalkes.

familiarity with foreign culture.

4. %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
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477187215
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30
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30
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Question Number : 91 Question Id : 4771876820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the mean of the frequency distribution 1s 59.3 and Y} f;x; = 1429 + k, }f; = 30,

then the value of 'k’ is
Ife gfa RETor &1 AT 593 3R Lfixy; = 1429 + k. ¥f; = 30, a9 k &7
7 &

Options :

350
1. ¢

300

]
Lh
=

200

Question Number : 92 Question Id : 4771876821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If secO +tanB = V3 and 0" < 8 < 90", then cos B =

Ilié; secO+tanB=+3 3 0" <9 <90° dF cosO =

Options :

-
I

NS

3.¢

-
t\-ﬂ| i



Question Number : 93 Question Id : 4771876822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A and B are any two finite sets such that n (AU B) = n(A) + n(B). then

choose the correct relation between the sets A and B.
Ifg A 3R B 38 o€ & IRAT &= € n(AUB) = n(A) + n(B), a9
A 3R B §H=9T ¥ e a9 H AT

Options :

A and B are equal sets

A 3T B TAET THE=AT

1. ®
A 15 subset of B
_ AB % 39 FE
2.
B is subset of A
B, A FT 37 §Fg=T
3. %

A and B are disjoint sets

A 3T B 3HTH

4. &



Question Number : 94 Question Id : 4771876823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coordinates of the point which divides the line segment joining the points

(—6,10) and (3, —8) in the ratio 2 : 7 internally lies in the quadrant
fag (—6,10) AT (3,-8) F HANF T H 2: 7 F Heuid H FH= arer T@r
s # fFfag &= T fog F s s aqayr § T g

Options :

Quadrant I

TqAT 1

Quadrant II

5 o TqAT I

Quadrant IIT
3w ST III

Quadrant IV

T IV



Question Number : 95 Question Id : 4771876824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If 0.65 = £, where p and q are co-primes, then g — p =
q

e

qﬁO.EZ%E@T,& HT g IEATTT FEAT dT g —p =

Options :

12
1. ®

Question Number : 96 Question Id : 4771876825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose an inconsistent pair of linear equations from the following.

T & @ i O S oF W gHer F oyaeT g

Options :
¥x+2y+4=03x—6y—2=0

1. #

5x — 3y = —11,—15x + 9y = —33
2. ¥

3x +4y = 11,9%+ 12y =33
3. %

2x—2y=3,9x+10y =10



Question Number : 97 Question Id : 4771876826 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Two dice are tossed simultaneously, then the probability that the sum of the

numbers appearing on the top of the dice 1s a prime number 1s

ar 9TET H UF A ST AT 99 9T F FW TEE & e gt F
TRT BT AT TEAT gl TATTTT §

Options :
13
36

3.¢

11
36

Question Number : 98 Question Id : 4771876827 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If sinB + cosecB = 2. then sin® @ + cosec® 8 =
IS sin + cosecO = 2 I sin® 6 + cosec3 8 =
Options :

2
1. ¢



Question Number : 99 Question Id : 4771876828 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The time taken for 4800 amount to ¥5556, if simple interest 1s calculated at

5 ,
6 f'c per annum 1s

4300%@#5556:5%&ﬁﬁmmmmaﬁfmmézee
gfg a¥ & g7 &=rer T F9

Options :

2 years 3 months

239 3 AR

1. ®
2 years 4 months
29 4 AE

2. ¥
2 vears 6 months
2399 6 AR

3. %

2 yvears § months

2 3y 8 AR

4. %



Question Number : 100 Question Id : 4771876829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

155y ~323

Options :

4x7

syfze

4y7z®
Sx7

6
3 % 5 Nx

4y’
5x7z®

4.

Question Number : 101 Question Id : 4771876830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of factors of 4560 1=
4560 + @Usr Fr FEIT

Options :
20

1. *

(e
[*s]

40

19



Question Number : 102 Question Id : 4771876831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The compound ratio of 2 : 3 and 9: 16 1s equal to x : 64. then the value of ‘x” 1s

2:3 3 9: 16 WIFd HJId FAH & x: 64 O x FT A

Options :

Question Number : 103 Question Id : 4771876832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From a circular thick paper of radius 20 cm, a sector with angle 216" is cut out
and its bounding radii are bent to form a cone, then the height of the cone (in
cm ) 18

20 THT F=Tr 9 Al FETST ¥ 216 FOT Iew UTF FeAr@Us FET AT E
AR 3FHr GHAT Aot F AZF TF OF T4 FAGT § ar o0F H FAOE
(T.HT) & Far geft

Options :

16
1. ¢

12
2. %
3. % :

6



Question Number : 104 Question Id : 4771876833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to subsets of a set.
e Fyar F cur ¥ 9fer S gH=IT F ITEH==Al ¥ HE U §

A) P ={x:xisanodd natural number and 9 < x < 15}, then the number of

subsets of set P 12 16.
P = {x : x U3 [99H Tpiceh HEATE 9 < x < 15} G4 P & 37 FH=aAT Hr
HEAT 16

B) @ = {x:xisaletterin the word FOLLOW}, then the number of subsets of

set @ 1s 16.

Q = {x : FOLLOW efeg H x U e &} dd Q WH==1F F 3quH==4 HI
&g 16 gef
Choose the correct answer

T 39T FT T37 H=T

Options :

Both the statements A and B are true.

gl FUS A B ET E

1. ®

Statement A 1z true and Statement B 1z falze.

FU9 A TcT I FU9 B HO T §
2. ®

Statement A 1s false and Statement B 1s true.

Jmam?sﬂthm?
3.-\./

Both the statements A and B are false.

gl FuF A HT B H¥UT §
4. %



Question Number : 105 Question Id : 4771876834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. b : 1 1 :
The discriminant of the equation — — — 3, (x#0,2)is
X X—
1 1
;—EZE,{I—?&O,Z)WWW% -
Options :
1
1. %
12
2.¥
28
3. %
60
4. %

Question Number : 106 Question Id : 4771876835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of odd natural numbers from 1 to 2025 1s
1 ¥ 2025 ¥ 77 FwH wpfas T F1 FTHa

Options :
10,20.100

1. *

10,22,121

10,24,144
3. %

10.26.169
4. &



Question Number : 107 Question Id : 4771876836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Chooze an INCORRECT statement from the following related to irrational

numbers.

T T Fuat # ¥ S 3T gt ¥ gE9iNg § S O 36T § 9g=TaT




Question Number : 108 Question Id : 4771876837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In AXYZ, 2£X =55 and £Z = 50, then the sides of AXYZ in

ascending order of their lengths 1s
AXYZ, 2X =55 #, 3 2Z=50" dd AXYZ HT JATT IoAhT el
& AR hH H

Options :

XY, YZ, ZX
1.v¥

, % Y2, 2K XX

XY, ZX, YZ
3. %

ZX Y7, XY
4. %



Question Number : 109 Question Id : 4771876838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The median of set of 11 distinet observations is 13. If each of the largest 5
observations of the set 1s increased by 3, then the median of the new set

11 FAT-HAT YU & B T AT 13 g A G F Tag T 980T # @
Scds H 3 & i $T AT aF AT W FT AT g -

Options :
1s increased by 3.
H3F AT E |
®

1.

1s three times of the original set.

A GH=aT HT AT AT € |

2. ®

remains the same as that of the original set.

Ao 9T & WA & @1 ¢ |
3.9

-~

18 decreased by 3.

T3 FAF AT |

4, %



Question Number : 110 Question Id : 4771876839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ABCD iz a parallelogram with AB = 15 cm. BC = 12 cm and area of the

parallelogram is 90 cm?, then the perpendicular distance (in cm ) between its

longer sides iz

ABCDWWW%WEB=1S T BC = 12 ¥ 3 gAEw
TS FT STFA 0 A, IF SHE o et F DT daaT gy
(T &) Faw g

Options :



Question Number : 111 Question Id : 4771876840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. A bus travels 42km 1n 35 minutes. If the speed remains the same. then the

distance (in kilometers) the bus can travel in 6 hours is

s S A AL TR ST amsS g s A @I T g arT 6
e ¥ frger frenseT o w00

Options :

Question Number : 112 Question Id : 4771876841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The volume of a cube is 216 cm?, then the total surface area of the cube (in
sq.cm ) 1s

TF O H JAGA 216 cm® dF O F HYOT I F &G (TG H)

Options :

216
1. ¥

144



Question Number : 113 Question Id : 4771876842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An observer of height 1.68 meters is 19.32 meters away from a coconut tree of
height 21 meters, then the angle of elevation of the top of the tree from

obzerver's eve is

1.68 Y =1 e UF TASEF 21 HT FAE I UF AT F 9T W
19.32 #leX gT & O TaeTH T A@ F 95 F fiY F FeaIa For ] E

Options :

30°

1. ®

(=3

45
2.

60°

90



Question Number : 114 Question Id : 4771876843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If P 1s the set of all prime natural numbers, Q 1s the set of all even prime
natural numbers and R 1s the set of all odd prime natural numbers. then choose

the correct statement/s from the following.

Ifg P gft 3T Wrpfas TEArHl # UF THAY g, Q AT §H HAsd
9pids HEAHT FT UF HH==F § AT R A AwA 3097 Ipfas dEamsHt
F GH==Y § a1 5 A ¥ W& FIST A1 FUA F 797949 FEw

A) QNR=0o

B) P-QUR

C) Q@ is a singleton set.

Q THd FH=ET ¥ |

ChGGSE‘ the correct answer

TEr 39T g

Options :
A & B only

Faa A T B
1. #®

C {}111}'

Faa C
2. %

r\ &' C Glﬂ}'

Faod A HT C
3, %

AB&C

4.



Question Number : 115 Question Id : 4771876844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Nature of mathematics reflects the following characteristics

Ao Hr Sl PrTatRe Rowan @ gofd &

A) A Science of abstraction

HHAAT # A=

B) Based on logical reasoning and axioms

T aF 3R fguiat | smia

03 Based on Inductive and deductive reasoning

HRTHATHSF 3T Faaeas g% o7 smafia

D) Uncertainty in results
Choose the correct answer

TET 39T FT 999 FL

Options :
A & Bonly

Fao A 3B

C & Donly
Fao C ARD

A B &: C Dlﬂy

Fad A.B HTC
3. ¢

D only
Faa D

4, %



Question Number : 116 Question Id : 4771876845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a learner draws a figure appropriately as per the general statement of the
theorem, then the above act falls under the following teaching objective of

mathematics.

afg Fr2 el 97T F AT FAT F AR 30T ¥ F FE AFA
TAT & aF 3WFT FF 70T F FEAf@d Rrer 35897 F Haea
g

Options :
Knowledge

Aled
1. ®

Skill
Fierer

2. ¢

Understanding

HAFH

3. %

Application

HeF T



Question Number : 117 Question Id : 4771876846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes that occur in the Teaching learning process as per the present

curriculum frame work 1s/are

JAAT ST I F HJAR Raror sfe ik & @ arer aReaw 2-

A)

B)

Emphasis on Learner centered Education.

fremredf Fiega Rram SR

Believes that the knowledge 1s static and has to be taught only by the
teacher.

$OH AT £ F 9 B € 3R 3% Fa fers Ewr & R
ST Tkl &

Believes that learner can construct the knowledge and creates the

knowledge.

=g+ oAy £ & Rremft A F1 AR F1 gar § 3R J99 7
g FT Fhal &

Teacher facilitates, encourages and assist the learner to foster active

learning.

fererss wfpar freror i JeEr & F fow fremd i g ge= Fwar
& Srcared Hiar & 3T Wgraar Far g

Choose the correct answer

TEr 39T #T I99 F7

Options :

A & B only
FaT A HTB

A.C & D only
FTTA.C HX D

A.B & Conly
FaTA. B 3T C



D only
Faad D

Question Number : 118 Question Id : 4771876847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Following 1s NOT the characteristic of good mathematics text book.

fer=faf@a & @ 7 =31 aifvg & arew qFa+ Hr Frwar ad &

Options :
Content should be organized creating a balance between logical and
psvchological aspects.
fawg vq F1 A+ 3R FAEATAF g3 & 99 G Td g0
saateya T AT =IfgT

1. ®
Connecting mathematical concepts to real world applications.
O HTIRONAT FT IEAGHF AT F HAIIE § Agar
2. ®
Well graded exercises.
3HH HEAE HH
3. %

Over reliance on abstract language

HAS AT W HeASF fovsiear

4. &



Question Number : 119 Question Id : 4771876848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following assessment tool is NOT considered as a part of formative

assessment.

Trafof@T 3Faa F 3907 FT TACHS AThold T A dAgl AT ATl
g

Options :
Portfolio
1. ®
Projects
2. ®
Assignments
gd
3. %

Semester Examination

THTST LI

4.9



Question Number : 120 Question Id : 4771876849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The unit plan in the mathematics subject helps the teacher

T AT & s ois=r Rrers i 7o wr §

A) To get an overview of the contents in the unit.

gre T 9T I/ FT HTdFA I F=A

B) To know the requirement of periods to complete the unit.

SHE HI T FA F olT FIelel HT HTETHdAT Aledel

C) Gives an idea which unit has to be dealt in which month.

TR TN Tt F e e T R gt wFw war

D) To transact the lesson for a specific day

et fAferse fGa &+ T 91 1 g9 FE

Choose the correct answer

HET 397 FT 999 F7
Options :
A & Bonly

Fao A HB

1. ¢

C & D only
Faa C ARD

A B &I C Ulﬂ}'

Fa A B 3T C
3. %

A.C & D only

$ad A C HTD
4, %
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Question Number : 121 Question Id : 4771876850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following.

fAeafei@a s § § e F99 F 99 F |

Options :

The force of buoyancy 1s the reason for an immersed body to appear light.

ERTIEE! qﬂ$wgﬁ§éﬁgﬁﬁr%@1‘ém?|

1. ¢

Relative density has units to measure.

HI9eT Odcd FT AT $HT SHEAT 2l 21

Heavier body floats.

AT R J3ET g

Hydraulic jack is an application of Bernoulli's principle.

gIssiiorh i defoll & [AgU=d FT TF FTIANT ¢



Question Number : 122 Question Id : 4771876851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the ‘correct quantum number set’ for the outer most electron in Na
TIETs 30] & 98 TR Soae F o WEr Faea ¥ F gE=aT H;

T L
Options :

=31 =0.mi=0,m. =%

1. v
1
n=2Xl=%Lm=~1Lm:==
2. % .
1
p=2d=bLmpy=1Tm: =
. 2
3, %
1
n=31=1m; =0,m, =5

4. %



Question Number : 123 Question Id : 4771876852 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A FALSE statement about refraction of light is
YT F HIGaT F aR F HAT FU $HT Tga FY
Options :
Velocity of light is more in rarer medium.

e AregdE # 9T v 39T 37O g &

1. #
Angle of incidence /refraction more in rarer medium.
faTer ATeTw F 3199/ 399a- FoT HAF AT F
2. %
Velocity of light 1z less in denser medium.
TUS ATCIH H Gl T 997 FH g1 2
3. %

Angle of incidence /refraction 1z less in rarer medium.

farer ATeUs #F 3MOae/ 9aaT HIUT FF 2T 2

4.



Question Number : 124 Question Id : 4771876853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement from the following.
T & T Faa 7 gg=a FI
Options :

The loudness of normal conversation 1s about 20dB.

AT I T digdT o9 20dB giaT g1

1. ®

The shrillness of sound 1s amplitude.

} egfer T digar 3marE g

2.

Vocal cords close when we speak.

) =19 &H dIddd X & df T T (Vocal cords) a¢ & SATAT g1
3‘ -

Sound can travel in vacuum.

e3far TEa & ofy +=2 2

4. %



Question Number : 125 Question Id : 4771876854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

VSEPR Theory mainly fails to explain
VSEPR Ueued AT ¥ ¥ 3H §ATW # fa%a @

Options :

Space occupied by electron pair

. Sl YA TIRT BRT 14T FA

Bond angle

) % el HIUT

Strength of bond

- Ju T FAALIr

Molecular shape

OIS+ HATHR

4. %



Question Number : 126 Question Id : 4771876855 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The force of attraction between any two universal objects is INDEPENDENT
of
Rl off ar wrailfas argat & 9= o T9 sEW FEAA 2
Options :
Distance between objects

TEG3T F dr b g

1. %
Mass of objects
JE] T FTATAT
2. %
Universal Gravitation constant
AT TocarRuur Seaiadt
3. %

Orientation of objects

4 TEG FT SFHEERIOT



Question Number : 127 Question Id : 4771876856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60W bulb consumes “x"J of energy when connected to an electric source of
120V. The amount of energy consumed by the same bulb when connected to
source of 240V 1s

TF 60W H 120V dod f3ega FHId & S W x"J Fa1 H @I Fal
g dr Ifg 38 240V g ¥ AT I aF go9 H @I A9 A0

Options :

L% 2xd
=

2. % 2

- 4x J
xZ J



Question Number : 128 Question Id : 4771876857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A coin 1z kept under a glass slab of refractive index 1.52. It appears to be

shifted vertically by 0.7cm. Then the thickness of the glass slab 1=

T+ UFFT 1.52 J9dds JTef HiT § Foid F #1F @ 7137 Ig 0.7 T
oAy &9 ¥ Trafg g@ar ¢ ar F1=9 F @i # #ee F1r aer

Options :

2.0 em

v 2.0 ..

1.5 em

1.5 §.AL



Question Number : 129 Question Id : 4771876858 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.
e Fr Fifsar 9T

Set 1 Set 11
A)  Nylon 1)  Wrinkle free
Aot g 7
B) Ravon 1) Diapers
e ST
C)  Aeryhe i) Fishing net
THIforF HAGoll IS T ATl
D)  Polyester iv) Carpet

grferEel FTelled

ChGDSE‘ the cOorrect answer

TEr 397 T T34 |

Options :

A-m, B-1n. C-1v, D1
1. ¢

A-m, B-1n, C-1, D-iv
2. %

A-m, B-iv, C-1, D-11

A-1, B, C-1v, D-in
4, %



Question Number : 130 Question Id : 4771876859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The true statement among the following
freafoma & §& Fua F1 TAT F

Options :

Smelting carried out in Reverberatory furnace.

gareler forar gfaeafd saedr & $r e &

1. ®
Roasting carried out in absence of air.
AT BT gar #r Huitata 7 e 2
2. %
CaO 1= obtained by adopting Caleination.
CaQ #r wiftg ATara=a garT gar gl
3.¢

Distillation 1= a method of purification of high boiling metals.

HTHIA 3= FIAAF drell TEG3HT F Ygraheor F v fafT g



Question Number : 131 Question Id : 4771876860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The substance which is NOT treated as an electric conductor among the
following

frmafof@a # & a7 vt 5w fagga =rers =8t 7@ S ¢

Options :

Mercury
9

1. %

Bismuth

ICE=>E)}
2.9

Graphite
3, %

Sodium
4, %

Question Number : 132 Question Id : 4771876861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coefficient of O in the balanced chemical equation of burning Propane
QT F ST« F Hfoid T FAFIOT # 0, F7 IOTH

Options :

_
1. ®
5
2. ¥
3. % 3
4



Question Number : 133 Question Id : 4771876862 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In plants, this part of a flower develops into a fruit after fertilization
gt &, fAS=a % 915 | T Ig 99T G F T H FFAT @ar ¢ -
Options :
Embrvo

[x AT

Embrvo Sac

Hor el

2. %
Ovary
ST
3. %
Ovule

4 % @IS



Question Number : 134 Question Id : 4771876863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the cell organelles that are found in both Prokaryotic and Eukarvotic

cells

grhiEes AT gHERAes gt FfFEt & 95 Fe arelr Sk B
9T HifeT

Options :
Ribosomes

- BECIR 2]
Mitochondna

2. % i
Plastids

, x CONTEEEH

Endoplasmic Reticulum

TSIeaEA+ fegoH

4, %



Question Number : 135 Question Id : 4771876864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fixed joints are present in this part of human body
AT T F 37 307 # R o3 Algg @9 #

Options :
Pectoral girdle

3T AT
1. ®
Pelvic girdle
aifor Ager
2. %
Skull

3. @aE

Backbone

fiz 1 gz



Question Number : 136 Question Id : 4771876865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following sentences and identify the correct answer

ferafafla ama afer R wé 553 Feantere -

A)  The plants with tap root system have leaves with parallel venation
HHECT ST YUl Tl Shut T 9l SR Rrfe=ara Jrelr gar €
B) The plants with fibrous roots have leaves with reticulate venation

9T =T arer aiut Fir ofaat SR P et @ §

Options :

‘Sentence — A’ 1s correct, ‘Sentence — B’ 1= incorrect

IFT - AT E, IFT -BAEa &

1. %
‘Sentence — A’ 1z incorrect, ‘Sentence — B’ 1s correct
IFT - A TAT &, IT -B WET §

2. %
Both the sentences are correct

. g 99T Har &

Both the sentences are incorrect

2T IFT T §
4.



Question Number : 137 Question Id : 4771876866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the process of cutting the Woolen fleece of a sheep from the following
= 7 ¥ 95 F§ 39 F Fea F 97 gg=n@T

Options :

Scouring

FHINT (TTeerres)

1%

Shearing

Rrafaer (FawE
2.9

Stifling

EewfereT (g7 ulea)
3. %

Sﬂrting

giféar (Gerg)

4, %



Question Number : 138 Question Id : 4771876867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the plant that stores food materials in stem
37 oty Fr ggea HifFT S ey TSt F a5 F gafgd Far €
Options :
Potato
ATel

LY
1. ¥

Sweet potato

ST Ty
2. %
Carrot
IMAT
3. ®
Raddish

Eel

4. %



Question Number : 139 Question Id : 4771876868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the phyla that are known for having an open circulatory system.

3 EIgelm F g HfFT F g ait@=Ror &7 F v I Fa €
A) Annelida

TATorET
B)  Arthropoda

3TYIETST
C)  Molluseca

ArSTERT

D) Echinodermata

THIEASHT

Choose the correct anawer

el 397 g\T

Options :
A & B only
Fao A IR B

B & C{}lﬂj:
Faa B AR C

2.¥

A & D only
FIa A HTD

A Bé& Donly
#dd A B 3TD



Question Number : 140 Question Id : 4771876869 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Diatom’ 1sa/an
SEH &
Options :
Protozoan

SIS

1. ®
Fungus
Fdh
2. &
Bacterium
3. %

Algn
CEIG

4.



Question Number : 141 Question Id : 4771876870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the hormone that is secreted in both male and female humans
T 3T AR T 7 giET @ I gEt T fr ggme fifFv
Options :
Follicle stimulating hormone

Gltorhel fEeegerfeer grafa

1. ¥

Testosterone

TEIE

Qestrogen

THEIS

3. %

Progesteron

EICE

4. %



Question Number : 142 Question Id : 4771876871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following gas in the normal atmosphere i1s in much smaller
quantities?

freafafes & @ 97 39 9=y IgHess A 9§ 8 A A AT € -

Options :
Ar

0

Co,
3.9

N
g% °



Question Number : 143 Question Id : 4771876872 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animal is listed in ‘endangered list'?
feer & & i 31 9y Ay g H ey €

Options :

Asiatic lion

l‘yuﬁmﬁm

Kangaroo
FATHR
2. %
Desert fox

IFrEarEr JrHE

3. %

Pigeon

Ra R

4. %



Question Number : 144 Question Id : 4771876873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tracheal Respiratory system 1s present in this organism

S ST & o3TH Ao 23S o7 HiSg & §

Options :

Fish
AGl
1. %
Frog
 HSH
2. %
Earthworm
e[
3. %

Cockroach

R

-

4.



Question Number : 145 Question Id : 4771876874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ravi, a Physical Science teacher. applied aleohol on a student’s hand and
asked him to observe and describe the sensation. He repeated the process with
spirit and petrol. The student reported a cooling effect each time. Based on

this, 1dentify what teaching method is the teacher using.

gifas T & Bes 9 3 05 ©F F T W sohgd o9 HiT 39
gl 1 e e HR 3EeT IUE wa #® FE s F e
AR Uge F @Y IR AEUs| B o & 9% e 9T Fr gEar &
390 AARNT F HUR W Tgaiav F R ganr e Rreor geufa &
39T foRaT

Options :

Deductive method

IGEIPGIZ-C R i)

1. ®

Inductive method

HETHATHS fafer
2. ¥

Lecture method

amﬁf&
3.

Heuristic method

i} e fafer
4,



Question Number : 146 Question Id : 4771876875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following learning experiences is NOT categorised in Edgar
Dale’s cone of experience?
fAeafof@a # & FiF a1 H#RH HgaT v 3 F HgHe oF Aoft A
CHEE G

Options :

Direct purposeful experience

JeTeT 3R AY0T AP

1. %
Contrived experience
Fle9TaTF JTH9T

2. % i
Dramatized experience
ATChIT AN T

3. & =

Vicarious experience

4. & i



Question Number : 147 Question Id : 4771876876 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a laboratory experiment., a student accidentally splashes sodium
hydroxide solution into his eye. As a science teacher, which of the following
would vou choose to wash the eye as the most appropriate first-aid treatment
for this eye injury?

TARTATST H TANT & SR TF OTF H 3@ F o § WETT gegaEs
FT O IAT AT &1 TF e F §9 # 719 57 3@ F 9 F °w gag
39gFd TAEAF 3TN F ¥ F J@ 9 F v wa-ar glwmr g

Options :
Weal sodium bicarbonate solution

&fior @z aEsEaEe F7 ogd

1. ®
Strong sodium bicarbonate solution
dIF IEaH FEFEae F1 a9
2. %
1% boric acid solution
1% @I TS e
3.¢

1% hydrochloric acid solution

1% ETSSIFAINF 3+ FT Ol



Question Number : 148 Question Id : 4771876877 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT indicative of the hypothesizing slkill?
e & ¥ 78 afFeuar sl F1 g+ 79 &

Options :

Formulating questions which lead to inquiry

A F AT F FH I AT B ST FAT

1. ®

Uzing the senses to gather information

ATAFNT THeal X F oT AT FT IIART FAT

2. ¢

Identifving variables for an experiment

U+ gaeT F ow = fr g e

Attempting to explain observations or relationships in terms of some
principles

Fo fAguidr F Hesl # FFaisal AT Faul Fr AET F F TIH
FTA

4. %



Question Number : 149 Question Id : 4771876878 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following would be the most suitable strategy to introduce the
topic ‘Communicable Diseases’ at upper prumary level?
39 YA TR W OCEE W F By w7 9vqa w9 F Qv
frmafaf@a # @ 9w s9gsa wehfa el
Options :
Provide a definition of Communicable Diseases and introduce the concept
by lecturing.

T TR T R &AT TAT WA F EFRT FTUROT F TES
h Il

Arrange for a doctor’s prescription pertaining to a communicable disease

and hold a discussion around it.

T W7 § HaOg Fael i g=f fr caawar FIE7 AT 3EF a0 H
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Hold a discussion on various communicable diseases, preventive measures
to avold their spread and their cure.
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Showing short duration video clippings of various communicable diseases,

measures to prevent and avoid their spread.
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the open-ended question from the following.
=T & & GA-FE (open-ended) T2 FT Tg=T HST
Options :

Humans can digest cellulose. Yes/No
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1. ®
What are bones made of?
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1.  Collagen and Calcium phosphate
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2. Calcium and Sponge
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3.  Sponge
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4. Calcium and Ferrous sulphate
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2.
What would happen if humans could fly like birds?
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On a scale of 1 to 5 points, how likely are you to recommend Biology as a
subject of study after 10t class?
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